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@uwpLlwed / PHYSICS
(8l wHmd o msew el / Tamil & English Version )

ST 6T6 : 1.30 wewfl Gmiyd ] [ Qurgs wSIQueartsat 40

Time Allowed : 1.30 Hours ] [ Maximum Marks : 40
oPleyenrsar : (1) omasg alamssesn sfursl uslaursl o arersT eraLgmens

sflunis gis Qemererald. sl LSlelle GampwWlmHullar , oj@ps
san srewtLLmeri_b o Lanquinas Qsflallsseyo.

(2) Do g SHLL @owlmar L EGL eauSH G
94 &CaMg (Heugn @b LwaTUBSS Ceuent (HLd. LILBIS6T
amrasn@ Quaéle Lwa LS SeL.

Instructions : (1) Check the question p for fairness of printing. If there

is any lack of fairness,linform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@s! =1 / PART - |

GOy (i) SOAS G e sErsEw el wallssab. 5x1=5

Note

(i) Qer@ssLiLL (Herar Brer @ wrHon ellmlsafle Wsald egnLjenw
o mws Csiplshsss @I GLar el wlamearynd Cais s
T(PSELD.

(i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

Cpiidlens Wl Carml L gems sar el LM iesl6aTs &mall erg)?

(=) dlarsen (=) WarGssdl (&) Wlaigreny ()  CopsaiL oemarggib
Which of the following devices does not allow d.c. to pass through?

(@) resistor (b) capacitor (c) inductor (d) all the above

2@ QnéE Werwmm i Wearepawsslar Bearanpwss Caupumn e 220V Qo Q@mpng 11V 966
G@p&Sngl wpmd BlaCean L smas 6 A @ @mba 100 A @86 o WIiTs5EIDE. iHar L)
Slar :

(o) 0.12 (<) 1.2 (@) 0.9 (FT) 0.83

A step-down transformer reduces the supply voltage from 220 Vto 11 V and increases the current
from 6 Ato 100 A. Then its efficiency is :

(@) 0.12 (b) 1.2 (c) 0.9 (d) 0.83

[ 8lmLiys / Turn Over

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


www.Padasalai.Net
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

125054

3. @ Waromdulle paearenn wHod gmarés spnseaie wanGuw 410 whmd 1230 spmisen
o aTeTan. (psa@ewd sMmele oerer  WaGeamlLw  6A  aalled, gmans  smeflar
WBlesrGamL Lorergy :

(=) 12A (M)  2A (@) 1A (/) 18 A

In a transformer, the number of turns in the primary and the secondary are 410 and 1230
respectively. If the current in primary is 6 A, then that in the secondary coil is :

(a) 12 A (b) 2A (c) 1A (d) 18A

4. WlarrGerm_L_iomengy 0.05 s Crrsdler 2A-dlpbgl -2A o8 widlemad, smetle 8V Wlaremlus s

&lleons grewtL UL SIg. smaflar sar Wler grewi e erawt :

(=) 0.2H (<) 0.4H (@) O0.8H (/) 0.1H

When the current changes from 2 Ato - 2 Ain 0.05 s, an emf of 8 Vis induced in a coil. The
coefficient of self-induction of the coil is:

(a) 0.2H (b) 0.4H (c) 0.8H (d) 0.1H

5. t ararp sarssley, @ HmGmH QsriiyemLw L Pg = 15t2 - 50t + 250 eran 2 aTerg,.
t=3s-Qa grew Ll L Blaralwuss ellmswrarg :

(=) -40V (=) -190V (®) 40V (FF) =10V

The flux linked with a coil at any instant t is[given by &g = 15t2 - 50t + 250. The induced emf at
t=3sis: Er

(a) -40V (b) -190V (C 40V (d) -10V

u@s! - Il / PART - I

GOy : eranauCugyd prai@ llamésens @ el wellssad. aflem eranr 11-86@
&L Lmuons ellen_wietlé selb. 4x2=8
Note : Answer any four questions. Question No. 11 is compulsory.

6. Nerdle euewsans alldlanws enms.
State Fleming'’s right hand rule.

7. @m Qe flu Barorplurearg (pe&Tang &meT oMb gimard Smerseile wapGu 460
whmd 40,000 spmsmears  QareaeBerarg. WaiorpPlureag 230 V. AC  ppes g
BemessLILL LT, gemaudamallar @ snhld o (heurar W e (pSsL Sreu s.

An ideal transformer has 460 and 40,000 turns in the primary and secondary coils respectively.
Find the voltage developed per turn of the secondary coil if the transformer is connected to a
230V AC main.

8. Q-sryewflenw craleumy euengweny Gauieuru’ ?
How will you define Q-factor?

0. e Uul L Barallué s ellmsamw o (maurs@ auflsmens gnms.
Mention the ways of producing induced emf.

10. Qeared allfleanws smms.
State Lenz’s law.
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11.  @m Cormen 2 Garss swlilurag 4 mWb umub Qsteril sthsliuasms 0.4 s Crrsslad
sL&&ng). sl grawrLliul L Naralus s elamswlar eranrodliamus sremrs.
A straight metal wire crosses a magnetic field of flux 4 mWb in a time 0.4 s. Find the magnitude
of the emf induced in the wire.
u@s! - Il / PART - I

GOy : eramauCugyd prai@ allamésens @ el wellssayd. e eranr 17-6@
&L Lmuons ellen_wietlé selb. 4x3=12
Note : Answer any four questions. Question No. 17 is compulsory.

12. Cpisglos BlaGaml Lgams afl wrmdlas BlarCGearm b fpphes aTaTusnETaT HeT e
OO GenDUT(H&ET WTeney ?
What are the advantages and disadvantages of AC over DC?

13. 200 spmser Qerani @m &L smer 4 A BlarGaml L gmss Qarat HeTers). SIS smaT
aflGw Qeswgid smsuiLmd 6x105 Wb eafled sblls smeners spolujerer er sggld
CablsaLILL L STHS Y DD®DE S HEIHs.

A coil of 200 turns carries a current of 4 ﬂ: the magnetic flux through the coil is 6x10-5 Wb,
find the magnetic energy stored in the medium surrounding the coil.

14, @ Wlangren g e QFT_Myen1 Hmedaren Fneun L Qumis.
Obtain an expression for the energy associated with an inductor.

15.  dlaromplulle epuBL LeCeum LHn® GLiLsmen alldmsEs.
Explain the various energy losses in a transformer.

16. @ &MmET e aTaTL &S LFlienu WIhnieuser ppeLd, e Wlaalus@ allamsamw ereleurm
SEwTL_embd ?
How will you induce an emf by changing the area enclosed by the coil?

17.  Qsmoi RLC sppled o ater War grewtiqar Wlaromiiy WlaCas &lullar WleaomiiiLy wpmid Wblerseam
Spdluamaer penpCu 184 Q, 144 Q wpmid 30 O erafle) &b dlar Wler ergliianiié sreant s. CaLd
Wlaianpss Caugiun® wpmd Wl CanmL L Qe wlerer sL L& Cararsmsub samrésHs.
Find the impedance of a series RLC circuit, if the inductive reactance, capacitive reactance and
resistance are 184 Q, 144 ), and 30 () respectively. Also calculate the phase angle between
voltage and current.
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L&s! = IV / PART - IV

GO : Smand g allasseEns @ allalwallssajib. 3x5=15
: Answer all the questions.

Note
18.

19.

20.

(<)

WlesrorpPlufe ojenoliy wpmd Qeweul e alleTéGs. g6 Lwainisinamaer
GUENTWIMIS SHELD.

S|
@m s L wrslos WlarGam L Wearalupdluilear Qeweumn oL Cgameuwrer
LS gL & ellars @ s.

Explain the construction and working of transformer and define its efficiency.
OR
Explain the working of a single - phase AC generators with necessary diagram.

SMhHeL Lwsslar slensmuls Qurmsg e sblll§ smeflar Sloms ojenoliemu W pieuser
e gl Blaraluse allmsmus gran B Wamemw SHSSI 6lleTs Smi&(EhL e

leurt.
S|P PG)

Wler grentio.& anhmled Wlaren(pss Caugur® wpmd WerGeam Lib @enCuw o 6Ter sLLG

QBTLTenLIs STewTH. SLL LOHMILD DN CUENTLLEIHEET CUETS.

Discuss with theory the method of inducting emf in a coil by changing its orientation with
respect to the direction of the magnetic field.

OR
Find out the phase relationship between the voltage and current in a pure inductive
circuit. Draw the phase and wave diagrams.

Qs RLC spmled, QegugsLiul L Blareanwss Caugur® wpmid WerGerm L ib
Qe Cw o arer sLL& Caramsslharar soaLT L& S[Hallssabd.
AV
@m Gsmg sbssmearser QaLGuw eerer UMby WlargrenL e erewr FLLMEGLD

TaTLMmSS ST (H&. (M12 = M21)

Derive an expression for phase angle between the applied voltage and current in a series
RLC circuit.
OR

Show that the mutual inductance between a pair of coils is same (M12= Ma21).
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